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@ Player

@ GamelLauncher @ GuessGame pg _
| _ «creale» _ 5/ 0 number: int
2
© main(in args: string [*]) o startGame(): void __p_). © guess(): void

p1 | @ getNumber(): int
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@startuml

left to right direction

skinparam dpi 200

class GuessGame {

}

+startGame(): void

class Player {

}

-number: int
+guess(): void
+getNumber(): int

class GameLauncher {
+main(in args: string [*]) {static}

}

GuessGame --> "pl1" Player
GuessGame --> "p2" Player
GuessGame --> "p3" Player

GameLauncher ..> GuessGame : <<Kcreate>>
@enduml
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https://seps8.deu.ac.kr/redmine/boards/44/topics/1022

Player.java

M& £0: ch02/game

1 package ch@2.game;

2

3 [Elpublic class Player {

4

5 private int number = 0; // 4

b

= public void guess() {

8 // Math.random(): 8.8 = r < 1.02] (double)r= Bi=}
g // number = (int) (java.lang.Math.random(}) * 10);
10 number = new java.util.Random().nextInt(10); // ==&
11 System.out.printf("# = ==A}: %d%n”, number):

12 - }

13

14 /1 =71

15 [ public int getNumber() {

16 ~ return number;

17 = }

18

19 }

20 =




Gamelauncher.java

M& £0: ch02/game
package ch@2.game;

public class GamelLauncher {
— public static voild main(5tring[] args) {
~ GuessGame game = new GuessGame();
game.startGame();
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ch02/game/Playerjava %

ch02/game/Gamelauncherjava %4

2ot
$ javac ch02/game/*.java

AlS
= A

$ java ch02.game.GamelLauncher
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Visual Studio= E7|(W)

%> Open Git GUI here

i, Open Git Bash here
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Open Folder as PyCharm Cﬂmrkmj Edition Project
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